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	Level
	Key Questions

	6
	· There are 810 pupils in a school.  
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of them are girls.  How many are boys?

· Pink paint is made by mixing red paint to white paint in the ratio 2:3.  If 750 ml of white paint is used, what is the total amount of paint made?

	
	· Write 
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as a percentage

· Find 
[image: image3.wmf]8

1

of £90

· Find the price of a £60 plumber’s bill when VAT is added at 17.5%

· Pink paint is made by mixing red paint to white paint in the ratio 2:3.  If 250 ml of paint is to be made, how much red paint is needed?

	
	· What is the value of   -2 –  -5  ?

· Find 
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of £4900

· 2.3 ( 0.1

· 4.64 ( 50

· Fill in the blanks in the calculation shown:  12 ( 6.5 = 6 ( ___ = ___

	5
	· 35% of $140

· 2.7 ( 40

· Find 
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of £63

· 8 apples cost £1.12.  How much will 5 apples cost?

· (35 – 21 + 2 – 14)3 
· What is the value of   -3 plus -6  ?

· Calculate 11 ( 2.4

	
	· 5% of $140

· 75% of £64

· 6.7 ( 1000

· 676 + 85

· The temperature at midnight on 21st December is -4(C.  The temperature at midday on 21st June is 29(C.  What is the difference in these temperatures?

· What is the value of   (a)   -7 + 8   (b)   -7 – 8   ?

· Find the sum of 21 and 28 and square root the answer

· 8 apples cost 96p.  How much will 5 apples cost?

	
	· 10% of $140

· 2.7 ( 10

· What is one fifth of 55?

· Write 
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8

in its simplest form

· The temperature at midnight is -4(C.  12 hours later the temperature is 7(C.  What is the increase in temperature?

· 3.2 ( 30

· 60 ( 40


	4
	· 4003 – 1992

· 42 + 13

· 8.2 + 5.4

· Toby employs 39 people.  He gives each of them a £100 bonus for Christmas.  How much does he spend?

· George Orwell wrote 1984 in 1948.  How many years are there between these two dates?

	
	· 2006 – 1997

· 64 ( 100

· 5 ( (8 – 6) + 2

· Ben calculates 17 ( 8 on his calculator and gets the answer 1.875.  Do you think he is correct?  Explain your answer.

	
	· 18 ( 10  

· 5 ( 8 – 6 + 2

	3
	· 28 ÷ 3

· 5 ( 7 = 35.  Give me two divisions that are connected to this fact.

· Rosie collects 38 eggs from her chickens.  She packs them in boxes of 6.  How many boxes does she fill, and how many eggs are left over?

· Josh has 48 liquorice allsorts.  He gives 21 to his brother.  How many does he have now?

	
	· 97 – 32

· 45 ÷ 5

· Dave collects 48 eggs from his chickens.  He packs them in boxes of 6.  How many boxes does he fill?

· Annabella has 34 ‘Mr. Men’ books and 23 ‘Little Miss’ books.  How many of these books does she have altogether?

	
	· 22 + 54


Note:  All of these should be mental calculations.  Mental fluency is required!
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